SFn 5 EE
w B OE
AHEEE

2B AEAN  BE=



L16°6LL 12V [8IR°01L98 TOETE6F9 Lo OB WY LIS'6LLTEY  [BIB01L98 10£°TE6F9 A IOE )
S60°209°CY 0£0°FEL 69 GE6TETTO 25 T B
991'T.92V ZeGCITV 8699687V (BB RIS E 9 ¢)]0958 095°8 HEZEOWH@
869°9£8°2Y L19°285°98 6L6°GTLECE W L B 0 S R I 2 |699°8¢€ 699°8¢ B B I [ 2
0 000°000°8 000°000‘8 (BEH Ty WLy [eszw $62'99L°67 000°99L°62 B TX MY T S 4 W e
0 000°99L°TT 000°99L°T1 (B8 Tz |oT0'667 GF9°00€°L G69°66.L°L F 5 | & ) o
0 000°000°01 000°000°01 (REH T4y 092681 092'6£1 LT LY L1
0 000°99L°6¢ 000°99L'62 BT 0P > [200F8TV PPLPRY 212'09%7 W v — (MUY
LBEGL TV 061°ZVS'2V 185°108'6W TINS5 S B RTE|0P0° 9TV €0V €96 £9£°L08°C BO 8L 3R e
0 e¥6 186G eFG 156G T FL T8 |000°TTP g £00°TTH o
0 ePs L86'S £FG°LS6 G |0 g g H2E0 W MY
7 o F B 0 z z Vi i
STY LLT'OTY  [88LT9L6°OT 99¢766L ey 6E9TILF 6£9°TTLY ey
005°25¢ 005°25¢ TR [1LL°29F°C L60°GLF 0F 898°CF6°GF HBAFOWHD 2 |
010‘66¥ G80°L9Z°L G60°99L°L ot = PR N [ eLT'61E T £L1'612'T 3B
ZE0FRIV 21L‘092 08992 YWy —0n |0 gLI6IC T ELI'61E'1 FHN
817199 161°025°L GLZG6I'S A IS 0LZ 769 T 170291 L¥ El e
02E°% 0zETV 0 T )
0 0FE€01°2 0FE‘E01‘2 TE|6gH [198°02 982921 LET'EST B 3E T 0
BGGTEFETY  |8GETGOT 102008 TTV TR [PLP99V T0G‘8LT LELTIT BRI
799°16 766200 9G9F60°T T ouEw 8TV 825°¥1 0 T Kk
9£€°G1 280 ¥81 89661 Gl — (LT AAH T |50FEL £L2'21L'E GL9'GRL'E Tk
6EELBTEV L9Z'708'F 826°900°1 EI¥ R [698°892° L2V 08G°.86°0F 12L°8IL°ET THIE
006'F¥8°91Y  |166'8F'6 606'G6E LV HEENe(882 LVe eV [8FSIOTOGE 09Z°69L LT B
ER ¥ ¥HHR By ¥ 3 < 1M XHBR
BOWY Lite
(Hd = Zhehr)

FHmMEE =%

BEHIEHE H9 ke

FEREIE

XS MEWEOR T — LY ZHH




FERC UL i
BREAR—LAEOFRMAIAXSy BEENEFEE

(B)%f 54 48 1A (B)5Ff 64F 3H3LA

(HAL )
EER A TR (W) PLFE(B) FEE (M- (B) %

IR BRI LA 2,400,676 A2,400,676
T O OFREALA 2,400,676 A2,400,676
I EHEERA (OT) 2,350,000 2,350,000
Z DOfth D HFZEA 50,676 AB50,676
FYN RSN 100,950,000 102,761,517 A1,811,517
T LN 100,950,000 102,761,517 1,811,517
(i PN 37,000,000 40,511,140 A3,511,140
Z DA OF TR A 900,000 716,287 183,713
) HiBh &HERULA () 63,000,000 0 63,000,000
N L TN ) 61,050,750 61,050,750
FOMOTFERA 50,000 483,340 433,340
4,672 AA,672
Z O OFEZEFA 4,672 A4,672
F O O H LA 4,672 A4,672
QeI R N 555 555
Z OO A 255,238 255,238
HEA 255,238 A255,238
HELA 255,238 /255,238
FEIRTIAZE (L 100,950,000 105,422,658 4,472,658
AR S 57,300,000 59,899,882 AN\2,599,882
ik B &S H 25,500,000 27,100,161 A1,600,161
itk BUE G- 6,800,000 6,768,731 31,269
FEH B R As 53 12,800,000 14,070,166 A1,270,166
kit ik B % 3 5,500,000 5,583,909 /\83,909
% BN AA o %< 1,200,000 207,504 992,496
£ ERAE TR e 3 H 5,500,000 6,169,411 669,411
i | s 21,504,000 28,187,634 6,683,634
?? fa R S 13,000,000 14,413,579 A1,413,579
T P 3 i 9 52 Y 10,000 10,000
% B - AR AR R 50,000 81,073 A31,073
”% PR AT A 2 S 500,000 380,331 119,669
B R 3 450,000 435,852 14,148
HHA&EW 50,000 175,521 125,521
ARIE N B S 3,000,000 3,097,195 A97,195
FRFHY ST 2,000,000 1,209,265 790,735
THFERR B L2 3 1,000,000 748,132 251,868
L TRBREERSE 112,000 587,391 A475,391
% TR 982,000 934,679 47,321
i S 250,000 119,522 130,478
AR S 113,184 113,184
Tede Az E 3T 15,890 15,890
{1 il e A 52 92,740 92,740
&4 3 H 814,567 814,567
A R R 5 H 175,366 A175,366
BT &l 3,158,514 3,158,514
PR B H 701,422 AT01,422
FHOE 465,608 /465,608
T B A TR S 440,000 A440,000
FBLZAR 32 H 9,600 A9,600
HES 100,000 18,203 81,797
5 3 3 H 24,510,000 19,974,854 4,535,146
E R A 3 S 900,000 329,518 570,482
TR 2z @ Fe 37 50,000 13,110 36,890
THER e 3 50,000 3,000 47,000
W TERE S A S 250,000 418,789 A168,789
FI1 il 1 7 e =2 200,000 150,538 49,462




R N R — LR O SRR LS X 5y
(B)4f1 54 4H 1H (E)Sf 64F 3H3LHA
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(BEAL: 1)
BhEF A FH ) L5 (B) FEHR(N)-(B) {i#
fEfE¥ > H 5,500,000 1,903,235 3,596,765
T {E R 850,000 422,278 427,722
T A 3 H 150,000 147,709 2,291
ES T in Sl 13,500,000 14,685,209 A1,185,209
F O D FERER 13,500,000 14,685,209 A1,185,209
?g FHEE 1,000,000 1,480,626 A480,626
é PR S 350,000 18,040 331,960
W] BfERSH 450,000 450,000
(|| - He R A S 750,000 750,000
% FLBL AN SR 3 1 50,000 5,000 45,000
I PR3 200,000 132,212 67,788
* e s 50,000 14,370 35,630
A S 110,000 167,700 /57,700
M HY 100,000 83,520 16,480
MES 100,000 83,520 16,480
WERRBY S E (2) 103,314,000 108,062,370 A4,748,370
TRETEED A -GN %0 (3)= (1)~ (2) A2,364,000 AN\2,639,712 275,712
U2
A
L TR LR (1)
g |BEEREREIL 5,300,000 7,393,760 A2,093,760
i RS 5,300,000 5,520,440 A220,440
C1 | R R S He 762,300 AT62,300
s B o 4R L A S 411,000 A411,000
2 % H L B UM L B 2 552,200 552,200
”% V7 k=7 BREEH 139,260 139,260
F oA oo [ IR 8,560 /8,560
77 A F AR ) — AR O R E H 168,696 168,696
T R % S (5) 5,300,000 7,562,456 A2,262,456
it B i RSS2 FE (6)=(4) - (5) 5,300,000 7,562,456 2,262,456
FE{ AL PE T LA 591 AB591
i A P S A B ST R PE U A 591 A591
”}f%@fmmfmu:mmx 564,789 564,789
g 564,789 564,789
it £ OO TEBULAG (7) 565,380 /565,380
O\ |(BLREXH 500,000 499,306 694
g B A B 24 % PE % 500,000 499,010 990
i I R PR A S P 296 A296
I |3 L K Ay R AR G 3 3,000,000 3,000,000
E-; |2 ofhoiESN X 53X 250,958 A250,958
& F i nia e i 2 38,669 38,669
IR A 212,289 A212,289
F OO IEBIZ HE (8) 3,500,000 750,264 2,749,736
T O O TFBE SIS %R (9)= (1)~ (8) 3,500,000 184,884 3,315,116
Tt #e 3 H (10) -
LRGN A (11)=(3) +(6) +(9)~ (10) A11,164,000 A10,387,052 AT76,948
AT RS A 7 (12) 36,452,000 37,854,929 A1,402,929
YR A E SR (1) +(12) 25,288,000 27,467,877 A2,179,877
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(HAT: 1)

EFR A MAEFEIRFE (A) AiAE BB (B) HY 3K (A) ~ (B)
STt bR UL A 2,400,676 2,400,676
F O ORI 2,400,676 2,400,676
B TR () 2,350,000 2,350,000
F OO FIFEILLE 50,676 50,676
EP N R e 102,761,517 106,552,618 3,791,101
T AN 102,761,517 106,552,618 3,791,101
117 WHAIN 40,511,140 39,499,361 1,011,779
i F DD R3S 716,287 924,770 208,483
il Bh A H HE UL 2R (— %) 61,050,750 65,911,487 4,860,737
Z O o FrEILE 483,340 217,000 266,340
4,672 4,672
T OO FFEILEE 4,672 4,672
£ DAt DI FEAT & 4,672 4,672
P B A TR BN 4 A1 (1) 105,166,865 106,552,618 /71,385,753
NG ¢ 60,398,892 51,667,090 8,731,802
Tk B A8k 27,100,161 23,821,248 3,278,913
I B H 5 6,768,731 5,824,514 944,217
IEH R S5 14,070,166 14,938,281 /868,115
el = 5,583,909 1,261,850 4,322,059
AR NkAG (¥ 706,514 645,045 61,469
HREER 6,169,411 5,176,152 993,259
TR 28,187,634 24,963,247 3,224,387
fa 14,413,579 14,544,117 A130,538
% $E 5 4 9,851 A9,851
++ LR - AR AL 81,073 3,216 77,857
!f R A 3 380,331 453,521 AT3,190
= Bt 435,852 486,021 50,169
FE [N 175,521 71,379 104,142
LU JKaE S B 3,097,195 3,663,210 AB566,015
;E o aiR 1,209,265 3,150,840 A1,941,575
D THFE AR B n 2 748,132 1,221,099 A472,967
i s 587,391 253,335 334,056
A 934,679 746,130 188,549
i 119,522 273,108 A 153,586
Fo|  TEERRELY 113,184 113,184
M| fete st 15,890 15,890
FR S A 3 92,740 92,740
(ETEN 814,567 814,567
A I i 5 175,366 175,366
E S T 3,158,514 3,158,514
BSFR 701,422 701,422
FHEE 465,608 465,608
R B R 440,000 440,000
B 9,600 9,600
MERE 18,203 87,420 69,217
FEHH 19,974,854 28,125,016 A8,150,162
T JEL A 329,518 957,842 A628,324
e A2 B 13,110 48,820 A35,710
WHEOFFE 3,000 3,000
TS AR 418,789 167,683 251,106
EJL ki A< 2 150,538 273,342 A122,804
&G 1,903,235 4,686,692 2,783,457
1 {E 422,278 500,327 AT8,049
JrgiEe 147,709 50,875 96,834
Tt 14,685,209 16,970,100 2,284,891
FOMOFELR 14,685,209 16,970,100 A2,284,891




BEEANT—LAEOFHAMEX Sy FEEBFEE
(B)=F 51F 47 1A (FE)EF 64 3H31H

SR

(BEAL: 1Y)
WER A WAEBETR B (A) AT4EFE LT (B) 6% (A) - (B)
FHOE 1,480,626 1,712,106 A231,480
(EU s 18,040 338,660 320,620
e 314,508 A314,508
H Lt - R A R A 523,110 523,110
[':__ LB 5,000 43,500 38,500
% | (ESSR s 132,212 1,352,251 1,220,039
T [/ T iy 14,370 14,370
Lol Haw 167,700 176,200 8,500
% Medt 83,520 9,000 74,520
) HER 83,520 9,000 74,520
W | A 7 2,463,373 5,726,780 A3,263,407
[FE] B4t 8 B 5 e S N 4 AR 4 A2,765,397 3,646,548 881,151
#— v RAEENHE AR (2) 108,259,356 106,835,585 1,423,771
— B ATH T EESE (3) = (1) - (2) 3,092,491 282,967 2,809,524
= IR LB 2 A N 2 555 668 Al113
4| | OO F— A TLEISL 255,238 116,767 138,471
I % R 255,238 116,767 138,471
‘7{ MU 2% 255,238 116,767 138,471
= - B REB SRR (4) 255,793 117,435 138,358
/)
|
2
il — b AJEE A R (5)
A W A (6) = (4) - (5) 255,793 117,435 138,358
5 HE 2R 4 (7)=(3) +(6) 2,836,698 /165,532 A2,671,166
i
4
53
?é RS R (8)
.
%ﬂsﬁ
R G (9)
FERIE W ESR (10)=(8) - (9)
4 1) 55 B I 2= A (1) = (7) + (10) 2,836,698 165,532 2,671,166
7 S0 AR T W 4 ek (12) 36,552,677 36,718,209 A165,532
i | 2 T A R D M 5 (13) = (1) +(12) 33,715,979 36,552,677 2,836,698
B [ LA 4 TR AE (14)
15 1% 0> o A7 & A (15)
%ﬁ Z OO F T AR (16)
=
#H
)
i
W HA AR TR T I R 2= 48 (17) = (13) + (14) +(15) - (16) 33,715,979 36,552,677 2,836,698




